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( 1. Like an IP address, the components of a domain name are separated by commas.
( )2.  The arithmetic unit interprets each instruction issued by a program and then initiates the appropriate
action to carry out the instruction.

(' )3.  Processors that use pipelining are slower because they have to wait for one instruction to complete the
machine cycle before fetching the next.

)4. A FireWire port allows a user to connect up to 15 devices together.

)5.  Regardless of the size of the computer, most operating systems provide similar functions.

)6.  The boot process is very different for large and small computers.

)7.  Power users seldom work with UNIX because of its rigidity and vulnerability.

)8.  Like a form, a report generator is used to maintain and retrieve data.

)9.  The nexus is the core of an operating system that manages memory and devices.

)10.  Many search engines use databases to store Web site descriptions.
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( )1.  A(n)___ computer is a special-purpose computer that functions as a component in a larger product.
a. hard-coded c. soft
b. embedded d. indexed
( )2. A____ isanumeric password either assigned by a company or selected by a user.
a. passkey c. PIN
b. secure number d. secure key
( )3. ____is ascam in which a perpetrator sends an official looking e-mail that attempts to obtain a user’s
personal and financial information.
a. Spam ¢. Phishing
b. Spit d. Spyware

( )4 Insequence, most system development life cycles contain five phases:

a. planning, analysis, design, implementation, support
b. analysis, implementation, support, design, planning
c. support, design, planning, analysis, implementation
d. implementation, analysis, support, planning, design
( )5. ____ means that the people who are conversing on a computer are online at the same time.
a. Automatic ¢. Real time
b. Real-world d. Mainline
( )6. ____ enables users to speak to other users over the Internet.
a. DA c. TCP/1P
b. VoIP d. An Internet news server
(' )7. The faster the clock speed, the more ____the processor can execute per second.
a. registers c. arguments
b. functions d. instructions
( )8. Two types of system software are .
a. application software and utility programs c. operating systems and utility programs
b. Web browsers and application software d. operating systems and Web browsers
( ). DSL_

a. uses a modem that sends digital data and information from a computer to a DSL line
b. is much slower than dial-up service
c. uses a line that is shared with other users in the neighborhood
d. all of the above
( )10. Inarelational database, each row .
a. and each column has a primary key
b. has a unique name and each column has a primary key
c. has a primary key and each column has a unique name
d. and each column has a unique name
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Bluetooth technology is

a. similar to a USB port in that it can connect multiple types of devices that require faster data
transmission speeds

b. aspecial high-speed parallel port that allows users to attach peripherals such as disk drives and
printers

c. aspecial type of serial port that connects the system unit to a musical instrument

d. an alternative to IrDA that uses radio waves to transmit data between two devices
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( )12, Computer communications describes a process in which two or more computers or devices transfer
a. data c. instructions
b. information d. all of the above
(' )13. For best performance of a communications channel,
a. bandwidth and latency should be low c. bandwidth should be high and latency low
b. bandwidth should be low and latency high d. bandwidth and latency should be high
( Y4, __ isthetime it takes a signal to travel from one location to another on a network.
a. Latency ¢. Frequency
b. Symmetry d. Delay register
( )15, ____ cable consists of one or more twisted-pair wires bundled together.
a. Dual c. Twisted-pair
b. Coaxial d. Fiber-optic
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1. Please convert/compute each of the following values: y
(a) (B17)n(Hexadecimal) = (W)pcp, W=?
(b) (10001010.01110); = (X)g, X=?
(¢) Y = the 8’s complement of (CE),, Y=?
(d) (1710 + (16)10 = (Z)2°s complement, Z=? (Please use the patterns of 6 bits)

2. What is NFC? Briefly explain it and give the full name of it.
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A. Identify the letter of the choice that best matches the phrase or definition.

a. Bluetooth f. 3G k.  parallel p. CMOS
b. twisted-pair g. 4G 1. multi-core q. ROM
c. eSATA h. AGP m. serial port r. nonvolatile
d. I'DA i. PCI n.  pipelining s. byte
e. 2G j. _external 0.  nanosecond t. P2P
1. Category of cellular transmission that transmits digital data at speeds up to 15 Mbps.
2. Frees processors from having to wait for one instruction to complete the machine cycle before fetching the
next.
3. This kind of processor is a chip with two or more processor cores.
4. Type of processing used by supercomputers.
5. Allows you to connect an external hard disk to a computer. This hard disk is popular because of its fast
data transmission speeds.
6. Examples of standards in this category include GSM and UMTS.
7. Port that allows a device to transmit data via infrared light waves.
8. Kind of network that is sometimes called a file sharing network.
9. Kind of cable designed to reduce noise.
10. Category of cellular transmission that transmits digital data at speeds from 9.6 Kbps to 19.2 Kbps.
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